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QUESTION 1
The law of conservation of mass states that

A. The total mass of all products of a chemical reaction is independent of the total mass of all the reactants. They are
not related.

B. The total mass of all products of a chemical reaction is equal to the total mass of all the reactants.
C. The total mass of all products of a chemical reaction is more than the total mass of all the reactants.

D. The total mass of all products of a chemical reaction is less than the total mass of all the reactants, because some
mass coverts to energy during reaction.

Correct Answer: B

QUESTION 2

What is the function of amylase in the body?
A. It breaks down proteins into amino acids.

B. It breaks down fat into fatty acids.

C. It breaks down starch into simpler sugars.
D. It breaks down fat into glycerol.

Correct Answer: C

QUESTION 3

Which of these statements is correct?

A. An oxidizing agent removes oxygen or electrons from other substances.

B. A reducing reagent either adds oxygen to, or removes electrons from, another substance.
C. An oxidizing agent either adds oxygen to, or removes electrons from, other substances.
D. A reducing agent removes oxygen from, or removes electrons to, another substance.

Correct Answer: C

QUESTION 4
Which of these groups of physical quantities consists only of scalars?

A. time, velocity, force
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B. mass, velocity, acceleration
C. speed, weight, acceleration
D. mass, speed, time

Correct Answer: D

QUESTION 5

What happens when a piece of zinc is placed in a copper(ll) sulphate solution?

A. Zinc displaces copper from copper(ll) sulphate solution. The original blue color of the solution persists.
B. Sulphur dioxide is liberated.

C. Zinc displaces copper from copper(ll) sulphate solution.

D. No reaction occurs because zinc is less reactive metal than copper.

Correct Answer: C

QUESTION 6

Maturation and development of T cells takes place in which region?
A. spleen

B. bone marrow

C. lymph nodes

D. thymus gland

Correct Answer: D

QUESTION 7
Which of these statements regarding facilitated diffusion across a cell membrane is true?
A. Itis a kind of active transport (i.e., does directly use energy such as hydrolysis of ATP) that requires protein pumps.

B. It is a kind of passive transport (i.e., does not directly use energy such as hydrolysis of ATP) that does not require
transmembrane/carrier proteins.

C. Itis a kind of passive transport (i.e., does not directly use energy such as hydrolysis of ATP) that requires
transmembrane/carrier proteins.

D. Itis a kind of active transport (i.e., does directly use energy such as hydrolysis of ATP) that requires
transmembrane/carrier proteins.
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Correct Answer: C

QUESTION 8

1.
é corpus callosum

——

-— 2.
hypothalamus /

pituitary \
4. \
3

spinal cord

cerebellum

In this diagram of the brain, some of the labels are missing.
What should the labels be?

A. 1. cerebral cortex, 2. thalamus, 3. medulla oblongata, 4. pons
B. 1. cerebellum, 2. grey matter, 3. thalamus, 4. hindbrain

C. 1. forebrain, 2. midbrain, 3. brain stem, 4. pons

D. 1. hippocampus, 2. fornix, 3. midbrain, 4. pons

Correct Answer: A

QUESTION 9

Large lymphatic trunks unite to form which two main vessels of the lymphatic system?
A. thoracic duct and superior vena cava

B. right lymphatic duct and thoracic duct

C. left lymphatic duct and thoracic duct
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D. right lymphatic duct and left subclavian vein

Correct Answer: B

QUESTION 10

A change in the gravitational field affects which property of a body?
A. temperature

B. weight

C. mass

D. volume

Correct Answer: B

QUESTION 11

What does the sympathetic portion of the autonomic nervous system control?
A. breathing

B. the "fight or flight" response to threats

C. shivering when cold

D. swallowing

Correct Answer: B

QUESTION 12

Food moves in the gastrointestinal tract by which of these processes?
A. peristalsis of the circular and longitudinal muscles

B. peristalsis of the voluntary muscles.

C. voluntary waves of contraction

D. peristalsis of the longitudinal muscles only.

Correct Answer: A

QUESTION 13

Fill in the blanks:
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Enzymes are that work best at pH or temperature.
A. biological catalysts, optimum

B. organic catalysts, minimum

C. inorganic catalysts, maximum

D. chemical substances, moderate

Correct Answer: A

QUESTION 14

What causes a moving body to resist a change in its state of motion?
A. its momentum

B. its speed

C. its acceleration

D. its inertia

Correct Answer: D

QUESTION 15

By which gland in the body is produced follicle-stimulating hormone (FSH), which is responsible for maturation of
follicles in the ovary?

A. corpus luteum

B. ovary

C. anterior lobe of pituitary gland
D. posterior lobe of pituitary gland

Correct Answer: C
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